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1. What is the additive inverse of 14?  (Lesson One)
a. 1

b. 0

c. 1/14

d. -14

2. Which of these numbers is equivalent to the rational number 2.60? (Lesson One)
a.[image: image1.png]



b.[image: image2.png]



c.[image: image3.png]



d.[image: image4.png]



3. Which of these is an integer? (Lesson One)
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4. What is the additive inverse of -3? (Lesson One)
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5. Which property is illustrated by the statement: (Lesson One)
If x + 4 = 11, then 11 = x + 4

a. Transitive Property of Equality

b. Reflexive Property of Equality

c. Substitution Property of Equality

d. Symmetric Property of Equality

